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(% AN) (AL . TH, %)

SN2 A BRI LA w0 %A HaRR

X o K| Rk bt PRER iAnd=a (A)-(B) (C)/(B)

(A) (B) (C) X100

L. B #/ B # B B 996, 718 21.4 1, 052, 528 22.2 A55, 810 A5 3
2. — s = #H 4 - - - - - -
3. ff A OB R O F BB - - - - - -
4, JiE * H 4 3, 882 0.1 1,196 0.0 2,686 224.6
5. & x H 4 3, 108, 304 66. 6 3,159, 413 66. 5 A51,109 Al.6
6. PE % A - - - - - -
7. f A & 409, 251 8.8 329, 408 6.9 79, 843 24.2
8. ik fetd & 120, 115 2.6 194, 219 4.1 AT74,104 A38.2
9. & Iz A 24,196 0.5 13, 359 0.3 10, 837 81.1
% A A B 4,662, 166 100. 0 4,750, 123 100. 0 AR7, 657 Al.8
(% H) (AL - TH, %)

SN2 A SER iy w9 % H R

X 73 LK | Rk bt LK ] Al bt (A)-(B) (C)/(B)

(A) (B) (C) X100

1. #& % # 75, 921 1.7 78, 574 1.7 A2, 653 A3. 1
2. P 55 e ¥ % 3,023, 383 67.0 3, 085, 638 68. 5 AG62, 255 A2.0
3. [E B RE ORI B B W& 1,328,512 29.5 1, 292, 456 28.7 36, 056 2.8
4. 3 A OF ¥ W OH & - - - - - -
5. P 53 * ES # 27,123 0.6 42,150 0.9 A15,027 A35. 7
6. 4 H AVA 4 - - - - - -
7. 18 15 # - - - - - -
8. B x H & 54, 576 1.2 10, 190 0.2 44, 386 435. 6
9. T T # - - - - - -
7 H & 2 4,509, 515 100. 0 4, 509, 008 100. 0 507 0.0




